nrgb rgb —-> rgb’éFa,in hrgb [L C ab s hab’ ax, b* ]Mae [L O ab hab’ ar, b*]Fae n*Fae C*Fae u*Fae dFae d*Fae OI\/*3Mae,it 0|V*3Fae,it
972 00 00 00 00 539 782 3570 781 -39 17.7 0.0 3570 0.0 0.0 1.0 0.0 b75r m47o 1.0 00 0529 0.0 0.0
Nrgb 9D —> 0IV%E, i hrgb [L*, C*ap » Nap, &% b*Ipad [L* C*ap , ap, &%, b7] Fad NFad CFad WFrad drad dFad rgb’k3Mad it rgb%3Fad,it
972 0.0 00 0.0 534 766 24 765 32 177 0.0 24 00 00 1.0 0.0 b79r m500 0.406 0.0
3 Colours no. 3 Colours no. -
j=972 output of the elementary coloue: j=972 output of the device coloun:
rgb input (in): linear interpolation (it): 3D interpolation (3D): rgb input (in): linear interpolation (it): 3D interpolation (3D):
rgb, . 0.0 0.0 00 00 00 0.0 0.001 0.0 olvi, ; 0.0 0.0 00 00 00 0.0 0.001 0.0
rgb%, gbit 0 0 0 0 0 0 0 0 0 oIV, gpit 0 0 0 0 0 0 0 0 0
L*, C*p hop 17.7 05 173.4 177 00 00 177 0.2 19.5 L*, C*p hyp 177 05 173.4 177 00 0.0 177 0.2 19.5
AE*,, AE% it<in: 0.5 0.5 3D-it: 0.2 0.2 = AE*m it-in: 0.5 0.5 3D-in: 0.6 0.6
Elementary colour e of 3D interpolation Device colourd of 3D interpolation
rgb 0 0 0 32 32 32 64 64 64 96 96 96 128 128 128 159 159 159 191 191 191 223 223 223 255 255 255
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